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Seat No.: _____                                                      Enrolment No.______ 
   

GUJARAT TECHNOLOGICAL  UNIVERSITY 
Diploma  Sem-II Remedial Examination September 2009 

Subject code: 320002    Subject Name: App. Sci. II 
Date: 18 / 09 / 2009                    Time:  03:00pm- 05:30pm 

Total Marks: 70 

Instructions: 
1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks. 
4. English version Authentic 

 
Q.1  Answer the following questions.  

 (a) Give the electronic configuration of  
(1) 26Fe  (2) 14Si  (3)  11Na  (4)  20Ca 

04 

 (b) Write the industrial applications of electrolytes. 05 
 (c) Calculate the pH of 0.005 M HCl solution.  [ log 5 = 0.6990 ] 05 
    

Q.2  Answer the following questions.  
 (a) Filling the blanks. 

(1) Silica and fire clay are the example of _________ 
Refractory. 

(2) A heating process of added sulpher in Natural rubber is 
________. 

(3) _________ impurities added Ge or Si is know as P-type 
semiconductor. 

(4) pH of acid is less than _________ and that of base is more 
than _________. 

(5) In pitting corrosion area of cathode is _______ than area of 
anode. 

(6) Galvanizing is _____________ coating. 
(7) Mg(HCO3)2 is produced ___________ hardness in water.  

07 

 (b) (1) Define: 
(i) Fire point  (ii)  Drop point  (iii) Saponification number 
(2) Give the example of basic refractories. 

 
03 
04 

  OR  
 (b) (1) Define: 

(i) orbital  (ii) hard water  (iii) polymer 
(2)  Write the applications of buffer solutions 

 
03 
04 

Q.3  Answer the following questions.  
 (a) Explain Auf – Bau principle. 05 
 (b) Write only the names of factors affecting the degree of ionization. 05 
 (c) What is Electro chemical series? State importance of it. 04 
  OR  

Q.3  Answer the following questions.  
 (a) Write the bad effect of using hard water in boiler. 05 
 (b) Explain boundary lubrication with diagram.  04 
 (c) Classify refractories. Give examples of each.  05 
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Q.4  Answer the following questions.  

 (a) Explain bond formation in NaCl. 04 
 (b) Explain the atmospheric corrosion. 05 
 (c) Write a short note on pitting corrosion. 05 
  OR  

Q. 4  Answer the following questions.  
 (a) Distinguish between Thermoplastic and Thermosetting plastic.  04 
 (b) Explain the addition polymerization with proper example.  05 
 (c) Give classification of lubricant with suitable example. 05 
    

Q.5  Answer the following questions.  
 (a) A sample of hard water gives in the following result. 

Calculate temporary hardness, permanent hardness and total 
hardness. 
Ca(HCO3)2 = 8.1 mg / L  , CaCl2 = 11.1 mg / L ,  
Mg(HCO3)2 = 29.2 mg / L , MgCl2 = 47.5 mg / L, 
MgSO4 = 6.0 mg / L, CaSO4 = 6.8 mg / L 

05 

 (b) Explain fluid film lubrication. 04 
 (c) State the constituents of oil paints. 05 
  OR  

Q.5  Answer the following questions.  
 (a) Explain the types of H bond with suitable example. 05 
 (b) Write a short note on  

(1) Electro refining  
(2) Electro typing 

04 

 (c) Explain the construction and working of electro chemical cell. 05 
 
5|5|5|5| \\ \\`Gv!`Gv!`Gv!`Gv!        GLR[GF 5`GF[GF HJFA VF5F[  

    VVVV    GL[RGFG\ .,[S8=,GLS A\WFZ6 VF5F[ 
(1) 26Fe  (2) 14Si  (3)  11Na  (4)  20Ca 

04 

    AAAA    lJW]T lJEFHIF[GF[ VF{WF[ULS p5IF[U ,BF[ 05 
    SSSS    0.005 M Hcl GF N|FJ6GL Ph  U6M slog 5=0.6990) 05 

5|5|5|5| \\ \\`G`G`G`GvZvZvZvZ          
    VVVV    BF,L HuIF 5\]ZF[ 07 
    !!!!    Z[TL VG[ VluGHLT DF8LV[ PPPPPPPPPPPPPPPP pQDF pNFCZ6 K[P  
    ZZZZ    S]NZTL ZAZDF\ U\WS pD[ZL UZD SZJFGL 5wWlTG[ PPPPPPPPPPPPPPPP SC[ K[P  
    ####    Ge S[ Si  DF\ PPPPPPPPPPPPPPPGL VX]lwWVF[ pD[ZJFYL  P 5|SFZGF[ VW"JFCS AG[ K[P  
    $$$$    V[;L0 PH PPPPPPPPYL VF[KL VG[ A[.HGL PH PPPPPPPPPPPPPYL JW] CF[I K[P  
    5555    5L8L\U 1FFZ6DF\ V[GF[0LS lJ:TFZ S\YF[0LS lJ:TFZ SZTF PPPPPPPPPPPPPPP CF[I K[P  
    &&&&    U[<J[ GF.hL\U PPPPPPPPPPPPPPPPPP G]\ VFJZ6 K[P  
    ****    Mg(HCO3)2 5F6LGL PPPPPPPPPPPPPPPS9LGTF pt5gG  SZ[ K[P  
    A A A A     s!f jIFbIF VF5F[Ps!f jIFbIF VF5F[Ps!f jIFbIF VF5F[Ps!f jIFbIF VF5F[P    03 
             VP VFU lAgN]            AP Z[,F lAgN]              SP ;FA]GLSZ6 V\S  
        sZf A[.hLS pQDF ;CGF pNFCZ6M VF5F[P 04 
        VYJFVYJFVYJFVYJF     
    AAAA    s!f jIFbIF VF5F[Ps!f jIFbIF VF5F[Ps!f jIFbIF VF5F[Ps!f jIFbIF VF5F[P    

 VP S1FS         AP ;bT 5F6L           #P AC]W8S 
03 

        sZfsZfsZfsZf AOZ N|FJ6GL p5IF[ULTF ,BF[P 04 
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5|`Gv#5|`Gv#5|`Gv#5|`Gv#        GL[RGF 5|`GF[GF ptTZ VF5F[P  
    VVVV    VFpO AFp GF[ l;wWF\T ;DHFJF[P 05 
    AAAA    VFIGLSZ6 V\X p5Z V;Z SZTF 5lZA/M ,BF[P 05 
    SSSS    lJW]T Z;FI6 z[6L V[8,[ X]\ m T[GL VUtITF ,BF[P 04 
        VYJFVYJFVYJFVYJF     

5|`Gv#5|`Gv#5|`Gv#5|`Gv#        GL[RGF 5|`GF[GF ptTZ VF5F[P  
    VVVV    ;BT 5F6LYL YTL BZFA V;ZF[ ,BF[P 05 
    AAAA    ;LDFJTL" :G[CG GL VFS'lT ;lCT ;DHFJF[P 04 
    SSSS    pQDF;CG]\ JUL"SZ6 pNFCZ6 ;lCT SZF[P 05 

5|`Gv$5|`Gv$5|`Gv$5|`Gv$        GL[RGF 5|`GF[GF ptTZ VF5F[P  
    VVVV    Nacl A\W ZRGFVF[ ;DHFJF[P 04 
    AAAA    JFTFZ6YL YT]\ 1FFZ6 ;DHFJF[P 05 
    SSSS    5L8L\U 1FFZ6 p5Z 8}\SGF[\W ,BF[P 05 
        VYJFVYJFVYJFVYJF     

5|`Gv$5|`Gv$5|`Gv$5|`Gv$        GL[RGF 5|`GF[GF ptTZ VF5F[P  
    VVVV    YDM";[\8L\U VG[ YDM"%,F:8LS JrR[GF[ TOFJT ,BF[P 04 
    AAAA    IF[UXL, AC]W8STF IF[uI pNFCZ6 ;lCT ;DHFJF[P 05 
    SSSS    :G[CSG]\ JUL"SZ6 IF[uI pNFCZ6 ;lCT  ;DHFJF[P 05 

5|`Gv55|`Gv55|`Gv55|`Gv5        GL[RGF 5|`GF[GF ptTZ VF5F[P  
    VVVV    ;BT 5F6LGF V[S GD]GFG]\ 5lZ6FD GLR[ D]HA K[P TF[ T[GL :YF. S9LGTF V:YF. S9LGTF 

TYF S], S9LGTF U6F[P 
Ca(HCO3)2 = 8.1 mg / L  , CaCl2 = 11.1 mg / L ,  
Mg(HCO3)2 = 29.2 mg / L , MgCl2 = 47.5 mg / L, 
MgSO4 = 6.0 mg / L, CaSO4 = 6.8 mg / L 

05 

    AAAA    TZ, 50 :G[CG ;DHFJF[P 04 
    SSSS    Z\UGF W8SF[ H6FJF[P 05 
        VYJFVYJFVYJFVYJF     

5|`Gv55|`Gv55|`Gv55|`Gv5        GL[RGF 5|`GF[GF ptTZ VF5F[P  
    VVVV    H A\WGF 5|SFZ pNFCZ6 ;lCT  ;DHFJF[P 05 
    AAAA    8}\SGF[\W ,BF[P !P WFT] X]lwWSZ6        ZP .,[S8=M 8F.5L\U 04 
    SSSS    lJH Z;FIl6S ;[,GL ZRGF VG[ SFIF["H6FJF[P 05 

********** 


